Which of the following is NOT , function of

the Rajya Sabha?

(A) Conducting impeachment
against the President

(B) To initiate the process of removal of Vice
President

(C) Initiating money bills

(D) Reviewing and amending laws

Proceedings

Which of the following state is not covered by | 2.
provisions of 6th schedule of the constitution
(A) Assam (B) Tripura

(C) Mizoram (D) Nagaland

Who is vested with the residuary powers in | 3.
Indian constitution?
(A) Parliament

(C) President

(B) Cabinet
(D) Supreme court

Consider the following statements : 4.

1. The executive power of the Union of India
is vested in the Prime Minister

2. The Prime minister is the ex officio
Chairman of the civil services board.
Which of the statements is / are correct?

(A) 1 only (B) 2 only

(C) Both1 & 2 (D) Neither 1 Nor 2

Which part of the Indian constitution deals | 5.

with Panchayati raj institutions?

(A) Part IX (B) Part X

(C) Part XV (D) Part XVII

Who among the following is appointed by the | 6.
President of India on the advice of the Prime
Minister?

(A) Deputy Chairman of Rajya Sabha

(B) The Chairman of the Rajya Sabha

(C) The Speaker of the Lok Sabha

(D) None of the above

Consider the following countries: 7.
Azerbaijan
Kyrgyzstan
Tajikistan
Turkmenistan
Uzbekistan

Which of the above have borders with
Afghanistan?

(A)1,2and 5 only
(C) 3,4 and 5 only

AN R

(B) 1,2,3 and 4 only
(D) 1,2,3,4and 5
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atis the correct sequence of occurrence of

the following cities in South-East Asia as one
Proceeds from south to north?

Bangkok
Hanoi
Jakarta
Singapore

—

LN

Select the correct answer using the code given
below.

(A) 4-2-1-3

(B) 3-2-4-1
(©) 34-12

(D) 4-3-21

Arrange the following dynasties of Vijayanagar
empire into chronological sequence.

1. Tuluva dynasty,

2. Sangama dynasty,

3. Aravidu dynasty,

4. Saluva dynasty,

(A)2,1,4,3 (B) 2,4,1,3
(€ 41,23 D) 4,2,3,1

Who among the following kings had given the
patronage to Tansen before Akbar?

(A) Udai Singh of Mewar

(B) Raja Bahadur of Malwa

(C) Raja Ramchandra Singh of Bhata

(D) Muzaffar shah of Gujrat

Which of the following institution belongs to
foreign trade?
(A) Shreni

(C) Nagaram

(B) Nanadesis
(D) Manigrama

The Maratha Claim of revenue for protection is
known by what name?
(A) Chauth

(© Sardeshmukhi

(B) Jamdani
(D) Abwab

Nalanda Mahavihara was set up by which
Gupta ruler?

(A) Kumaragupta II  (B) Kumaragupta |
(C) Chandragupta II' (D) Samudragupta
The only inscribed stone portrait of Emperor
Ashoka has been found at?

(A) Sanchi (B) Amaravati

(C) Ajanta (D) Kanaganahall
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Who among the following was associated with
the activities of the Theosophical Society?

(A) Margaret Elizabeth Noble

(B) A.O.Hume

(C) Madelein Slade

(D) Col. H. S. Olcott

Separate electorates for representation of
Indian Christians and Anglo-Indians were
created under the following act?

(A) Indian Councils Act, 1861

(B) Government of India Act, 1909

(C) Government of India Act, 1919

(D) Government of India Act, 1935

Mahatma Gandhi's first attempt at leading an
all-India struggle was his call for a Satyagraha
against which one of the following?

(A) The Public Safety Bill

(B) Rowlatt Act

(C) The Government of India Act, 1919

(D) The Trade Disputes Act

The Damin-i-Koh was created by British
government to settle which one of the following
communities?
(A) Sabar

(C) Oraons
The Tropic of Cancer passes through how
many Indian states?

(A) 6 (B) 7

©) 8 (D) 2

How many nuclear power plan

incorrectly paired with its location?
1. Kakrapar Atomic Power Station -

Karnataka
2 Kudankulam N uclear Powe

Nadu _ '
Narora Atomic Power Station - Rajasthan
Kaiga Atomic Power Station - Andhra

Pradesh
(A) 1 Pair
(C) 3 Pairs
Arrange the following
from North to South:
1. Doddabetta
2. Anamudi
3. Mullayanagiri
4. Kodaikanal
(A)1,2,3,4
€ 2,1,3,4

(B) Mundas
(D) Santhal

ts is/ are
r Plant - Tamil

3.
4.
(B) 2 Pairs

(D) All 4 Pairs

South Indian peaks

(B) 3,1,4,2
(D) 1,3,4,2
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The Perform, Achieve and Trade (PAT) scheme
in India is related to:

(A) Education (B) Global warming
(C) Energy efficiency (D) Foreign Exchange

Which one of the following is not correctly
matched?

(A) Periyar National Park - Kerala

(B) Mudumalai National Park - Telangana
(C) Nagarhole National Park - Karnataka
(D) Mukurthi National Park - Tamilnadu

Which one of the following pairs is notcorrectly
matched?
Dam/Lake
(A) Govind Sagar
(B) Koteshwar Dam
(C) Ukai Reservoir
(D) Somasila Dam
Which of the following SDG will target to water
availability for all?
(A) SDG-2
(C) SDG-8

River

- Sutlej

- Narmada
- Tapi

- Penna

(B) SDG-6
(D) SDG-4

The number of persons who remain
unemployed for a maximum part of year is
called as?

(A) Usual status of unemployment

(B) Daily status of unemployment

(C) weekly status of unemployment

(D) Annual status of unemployment

The Economic Survey of India for 2023-2024
highlights a projected real GDP growth rate in
2024-25 for India in the range of:

(A) 6.0% - 6.5% (B) 7.0% -7.5%

(C) 55% - 6.0% (D) 6.5% -7.0%

As per economic survey 2023-24, India’s forex
reserve at end of march 2024 is sufficient to
cover imports for :
(A) 11 Months
(C) 4 months

(B) 24 months
(D) 6 months

What is the primary objective of ‘Project

Nexus’, recently in news?

(A) To improve domestic banking systems

(B) To enable instant cross-border retail
payments

(C) To create a new cryptocurrency

(D) To monitor international
transactions

financial
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Which Indian athlete became the first to winan
individual gold medal in the Olympics, and in
which event did they achieve this?

(A) Abhinav Bindra, Shooting

(B) Neeraj Chopra, Javelin Throw

(C) P.V. Sindhu, Badminton

(D) Sushil Kumar, Wrestling

Which of the following is measured by

Anemometer?

(A) Depth of water
(C) Density

The ratio of kinetic energies of two bodies of
same mass in 4:9, the ratio of their velocities
will be?

(A)4:9 (B) 16:18

(€ 9:4 (D) 2:3

Himalyan Nettle (Girardinia Diversifolia) is a
sustainable source of?

(A) Anti malaria drug

(B) Bio Diesel

(C) Pulp for paper industry

(D) Textile fiber

(B) High temperature
(D) Force of wind

Increasing the amount of a substance does not
change its?
(A) Density
(©) Mass
Consider the following chemicals

1. Benzene

2 Carbon tetrachloride

3 Sodium Carbonate

4 Trichloroethylene

Which of the above is/are used as dry-cleaning
chemicals?

(A) 1 Only

(©) 1,2,40nly
Raman effect deals with the light rays passing
through.

(A) Only fluids

(B) All transparent medium

(C) Only prism

(D) Only diamonds

CNG used in automobiles, mainly consists of -

(A) CH, (B) CO,
(O N, (D) Butane

(B) Pressure
(D) Volume

(B) 2 Only
D) 1,2,3,4
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38. Which one of the following compounds is used

(0RO}

39. Which one of the following fertilizers leaves

41.
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45.
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as a sedative?

(A) Phosphorous Trichloride
.‘(B) Potassium Bromide

(©) Ethyl Alcohol
(D) Calcium Chloride

maximum acidity in the solid?
(A) Urea

(B) Ammonium Nitrate

(©) Ammonium Sulphate

(D) Calcium Ammonium Nitrate

Which one of the following is a mixed
fertilizer?

(A) Urea

(B) NPK

(©) CAM

(D) Ammonium Sulphate

Radioactive dating is a technique which can be
used to measure -

(A) The age of rocks

(B) Composition of rocks

(C) Color of rocks

(D) All of the above

The chief source of Hydrogen Sulphide
pollutant is:-

(A) Automobiles

(B) Oil refineries

(C) Decaying vegetation and animal matter
(D) Thermal Power Plants

Which of the following is NOT a function of
the digestive system?

(A) Absorption of nutrients

(B) Excretion of waste products

(C) Production of antibodies

(D) Mechanical breakdown of food

Which of the following is not a protein?
(A) Keratin (B) fibroin
(C) oxytocin (D) collagen

Which hormone is responsible for

the development of secondary sexual
characteristics in males?

(A) Estrogen (B) Progesterone

(C) Testosterone (D) Growth hormone

The process by which cells divide to produce
identical copies of themselves is called :

(A) Meiosis (B) Mitosis

(C) Fertilization (D) Apoptosis

(8-
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Which of the following is NOT a type of
carbohydrate?
(A) Glucose
(C) Starch

(B) Cellulose
(D) Lipid

Solar energy is converted into ATP in
(B) chloroplast
(D) Nucleus

(A) mitochondria
(C) Peroxisome

Which of the following is the smallest unit of
biological classification?

(A) Kingdom (B) Phylum

(C) Species (D) Genus

Which of the following hormones is responsible
for the fight-or-flight response in mammals?
(A) Adrenaline (B) Insulin

(C) Cortisol (D) Growth hormone

Mr Murmu walked 6 km to reach the station
from his house, then he boarded a train whose
average speed was 60 km/hr and thus reached
his destination. In this way he took total 3 hours.
If the average speed of the entire journey was
32 km/hr then the.average speed of walking
is:

(A) 3km/hr
(©) 4km/hr
The sum of the curved surface area and total
surface area of a solid cylinder is 2068 cm.
If radius of its base is 7 cm, then what is the
volume of this cylinder? (use n = 22/7)

(A) 3080 cm?® (B) 2080 cm?
(C) 2075 cm?® (D) none of the above

(B) 45km/hr
(D) none of the above

If x = sec O + tan 0, y = sec 0 - tan 0 then the
relation between x and y is :

(A) x*+y*=0 (B) x*=y*

(©) x*=y (D) xy =1

Two circles each of radius 36 cm are intersecting
each other such that each circle is passing
through the center of the other circle. What
is the length of common chord to the two

circles?
(A) 35 V3 cm (B) 34 V3 cm
(C) 36 V3 cm (D) none of the above
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A, B and C started a business with initial
investments of Rs. 20000, Rs. 25000and Rs.
10000, respectively. After 5 months from start,
A invested Rs. 4000more. After 6 months from
start, C invested Rs. 8000 more. After 4 months
from start, B withdrew Rs. 8000. At the end of
the year, they will receive a profit of Rs. 'x'. In
what ratio they will share the profit?

(A) 42: 67:59 (B) 67:59 42

(C) 67:42:59 (D) None of the above
What is the value of

5 sin?60° + 7 sin? 45° + 8 cos? 45°?

(A) 45/4 (B) 4/45

(C) 49/4 (D) 4/49

Two train start simultaneously from two
stations Ranchi and Giridih respectively
towards each other on the same track. The
distance between the two station is 560 km
and the speed of trains are 30 and 40 km/h

respectively.

Simultaneously with the train, a sparrow sitting |

on the top of one of the train starts towards
the other and reverse its direction on reaching
the other train and so on. If the speed of the
sparrow is 80 km/h then the distance that the
sparrow flies before being crushed between
the train is:
(A) 70 km
(©) 640 km
3 men and 5 women together can finish a job
in 3 days. Working on the same job 3 women
take 5 days more than the time required by 2
men. What is the ratio of efficiency of man toa
woman?

(A) 21 (B) 3:2

(€ 52 (D) 41

The ratio of milk to water in a 100 litres mixture
is 2: 3. if 10 litres of this mixture are withdrawn
and replaced with milk. This process is repeated
2 more times, what is the percentage of milk in
final mixture?

(A) 56.26 (B) 56.86

(C) 57.27 (D) 57.86

ABC is an equilateral triangle. If the area of
the triangle is 36V3, then what is the radius of
circle circumscribing the triangle ABC?

(A) 23 (B) 3\3

(€) 413 (D) 63

(B) 560 km
(D) 650 km

Bl W B
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2

(A) 45/4 (B) 4/45

(C) 49/4 (D) 4/49

a’rgﬁwﬁﬁmwﬁﬁvﬁrﬁ@zéﬂ#
wgﬂiaﬁaﬂ?mzaoaﬂvmﬁ»‘ﬁr/smﬁ
wﬁrﬁwwmgﬁm%mﬁm
& &g & g 560 flt 81 L7 @ WRI-H TP
Mwiﬂﬁﬁﬁwﬁmwﬁgﬂﬁm
S & R g 3 ae ugE W e fam
gae ot 2 ok ¥ oRE 98 HA N I E
Hﬁ?ﬁ?m&ﬁﬂﬁsoﬁﬂﬁ/ﬁa%ﬁ’fi?ﬁﬂﬂ
@amammm@mmg?
(A) 70 f&H
(B) 560 f5eit
(C) 640 frfY
(D) 650 Tt

&1 gy 3R 5 AR fie@s @ Fm @ 3 T
§ g R Gad § | 96 T W 3 AR 2 out
Y et ¥ 5 27 3P oIl § | goY I & B
AT A T AU 87
(A) 2:1
(C) 5:2

100 Tex @ fAsor % g SR UT BT U 2 ¢ 3
2| gfy 39 Msor @ 10 oMex & FAdTeax g &
oot faar wrar & | g9 wihar 3 2 IR AR Qe
T &, if fisor A gu @1 wfved @ @2
(A) 56.26 (B) 56.86

(€ 57.27 (D) 57.86

ABC & wwaig Prpa 81 afk Bea &1 aawa
gﬁVﬂ%ﬁﬁwmﬁwﬁaﬁaﬁmm
?

(A) 23
(C) 43

(B) 3:2
(D) 4:1

(B) 33
(D) 6 V3



61.

62.

63.

65.

67.

68.

ABC is a right-angle triangle and angle
ABC = 90 degrees. BD is a perpendicular on
the side AC. What is the value of BD?

(A) AD x DC (B) BC x AB

(C) BCxCD (D) AD x AC

An article is sold at 25 percent loss. If its cost
price is doubled and selling price is increased
by Rs. 660, then there is a profit of 20 percent.
What is the original cost price of the article?
(A) Rs. 480 (B) Rs. 500

(C) Rs. 400 (D) Rs. 360

Average age of 7 students of a class is 28 years.
Average age of first three students is 30 years.
Age of fourth student is 4 years less than the
age of fifth student. Ages of last two students
is same and is 5 more than the average age of
first three students. What is the average age of
fourth and fifth student?

(A) 20 years (B) 36 years

(C) 16 years (D) 18 years

The compound interest (compounding
annually) on a certain sum at the rate of 8
percent per annum for two years is Rs. 6656.
What would be the simple interest on the same
sum at the same rate of interest for two years?
(A) Rs 6200 (B) Rs 5200

(©) Rs 6400 (D) Rs 5400

Salaries of B, C, D and E are in the ratio of
2 : 3 : 4 : 5 respectively. Their salaries are
increased by 20 percent, 30 percent, 40 percent
and 50percent respectively. If the increased
salary of D is Rs. 560, then what is the sum of
the original salaries of B, C, D and E?

(A) Rs 1400 (B) Rs 1500

(C) Rs 1600 (D) Rs 1700

The slant height of a cone is 20 cm. If area of its
base is 616 cm?, then what is the curved surface
area of this cone? (use n = 22/7)

(A) 870 cm? (B) 880 cm?

(C) 900 cm? (D) 920 cm?

Which of the following is equal to

sec A—cos A?
(A) sin A*cot A
(C) tan A*sin A
Ifa+b = 6and ab = 5, then what is the value of
a’+ b*»?

(A) 116 (B) 106
(C) 136 (D) 126

(B) cot A*cos A
(D) cos A*sin A

61.

62.

65.

66.

67.

68.

[11-A]

ABC u® @uaor s 8 R @1 ABC = 90
fEf &1 BD 91 AC UR @ 2| BD &1 #1 @
14

(A) AD x DC (B) BC x AB . ye s
(C) BCx CD (D) AD x AC 3 f
U awg B 25 greE w1 w ‘I

SuHET ArTE Hged QA @R R o v fawa
g % 660 vud A gfy w A W, @ 20 wfrera

&1 ™ BYAT B | aK] BT HA ANTA Heu aa 27
(A) 480 T (B) 500 ¥4
(C) 400 A (D) 360 U4

TP BET D 7 BIE B IAaa g 28 99 2| UBA
A9 vl @ s g 30 9§ 2| AN BE B
g e BIA B Ag | 4 W 9 2 ffaw
BE A g A & 3R ved A1 Bl @ aad
g ¥ 5 e 2| =@ ok uiEd v B e

3y T 87
(A) 20 a9 (B) 36 a9
(C) 16 a9 (D) 18 ¥

s fAfdad I W 8 wfiwa ufd a¥ ot R F Q@
a5t & g =gy @ (affe ware) 6656 ©94
2 9 X 9 99H w9g @ forg S Afr w
[TRYT &I F4T 177

(A) 6200 TG (B) 5200 TW

(C) 6400 TTA (D) 5400 ¥92

B,C,D 3R E & a9 %M 2:3:4:5 & Igud
¥ &) S qa9 & A 20 wfoRrd, 30 A, 40
yferera 3R 50 wfoera & afs g€ 21 IR D @
937 g1 ¥a 560 B9 &, @ B,C, DR E & 7
a1 BT AT AT 27

(A) 1400 92 (B) 1500 ¥T

(C) 1600 T (D) 1700 92

F uq @ oo Fug 20 A 7| AR s
IR HT &FBA 616 W9° B, @ 390 g & IB
g &Fhel a1 87 (n=22/7 & ST H)

(A) 870 AHY (B) 880 ¥#¥

(C) 900 ¥ (D) 920 ¥y

?ﬂﬁﬂ‘iﬁ # QA P A sec A-cos A B WA
?

(A) sin A*cot A (B) cot A*cos A

(C) tan A*sin A (D) cos A*sin A

A a+b=63R ab=5 3 & a+ b I 9=
a1 gnT?

(A) 116 B) 106

() 136 2[)))126
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69.

70.

71.

73.

24P-S-2

What is the sum of all the common terms
between the given series S1 and 52?
§1=2,9,16, ... , 632

§2=7,11,15, ........ , 743

(A) 7140 (B) 6750

(C) 6860 (D) 6974

A alone can do 2/5 of a work in 12 days. B is
25 percent more efficient than A. C alone can
do the same work in 12 days less than B. D is
25 percent less efficient than C. If they all work
together, then the work will be completed in
how many days?

(A) 300/47 (B) 180/43
(C) 200/51 (D) 240/53
Select the combination of letters that when

sequentially placed in the given letter series

will complete the series.
db_cbd_ba_bd_bac_d
(A) adbed
(C) adcdb
Which number will replace the question mark

(B) bdcbd
(D) dacdb

(?) in the following series?
5,12,26,54,7

(A) 110 (B) 112
(©) 98 (D) 92

A square paper is folded and cut as shown
below. How will it appear when unfolded?

.

(A)

©

69.

70.

71.

72.

73.

[12-A]

R

é’snénlmhsmnvsza%aﬁamﬁwmﬁuqz‘fm
vy 87

§1=2,9,16, ...cccooos 632
52=7,11,15, .ccconnnrs 743

(A) 7140 (B) 6750
(C) 6860 (D) 6974

A 3, 12f2=1‘fﬁmair2/sﬂmmm2|
B,AﬁzsmmW?lCmBﬁ
12ﬁamﬂwﬁa€lmmm?|ucﬂ
25nﬁmﬁmw%|uﬁawft@mm
mﬁ%‘,a‘riﬁmﬁmﬁﬁn‘fﬁwzﬂm?

(A) 300/47 (B) 180/43

(C) 200/51 (D) 240/53

aﬁ%wﬂmmmﬁmmm
ﬁﬁqwamsjamﬁmﬁwsj@wr{ﬂzﬁ

S|

dbpcbdgbacbddbackd

(A) adbed (B) bdcbd
(£) adedb (D) dacdb

ﬁﬂ%@amﬁmﬁ%m%wﬂwﬁa
& G Imy?

5,12, 26,54, ?
(A)110 (B) 112
(©) 9. (D) 92

wmﬁaﬂ?maﬁmmm%m&
S frrr T ¥ 13 Wem R a8 P A

e




74. Select the Venn diagram that best illustrates

75.

76.

78.

79.

the relationship between the following classes.

Graduates, Teachers, Literates

@ =
8 @

Three of the following four numbers are alike
in a certain way and one is different. Pick the

number that is different from the rest.

g

(A)

(©

(A) 43 (B) 57 ,
() 3 oy
E¢[E

Three of the following four letter-clusters are
alike in a certain way and one is different. Pick
the odd one out.
(A) PQUR
(C) DBFA

(B) HLIO
(D) RSTY

If ABC x DEED=ABCABC; where A, B,C, D
& E are different digits. What are the values of

D &E?

(A) D=2, E=0 (B) D=0, E=1

(C) D=1, E=0 (D) D=1, E=2

Usha runs faster than Kamla, Preeti runs slower
than Swati, Swati runs slower than Kamla.
Who is the slowest?

(A) Kamla (B) Preeti

(C) Usha (D) Swati

Two different positions of the same dice are
shown. Which number will be at the top if 68

P

(A) S (B) 2
©3 (D) 4
Showing the women in the park, Neha said

f my grandfather’s only

ushe is the daughter ©
lated to that woman?

son”. how is Neha is re .
(A) Sister (B) Cousin
©) Father (D) Uncle

[13

74.

75.

76.

78.

79.

80.

.A]

fm:‘f?‘{fhﬂ FT’“ b rar Hasr & Hqatem w=n A
oty aret a1 e o |
wira®, es, aiee

& @

ﬁqﬁ-@lﬁaﬂmaﬁﬁ%mmﬂﬁﬁaa
aﬁﬁm%sﬁmm%uwﬂww

(B)

©

i

T B ol B A AT 2 )
(A) 43 (B) 57 B oy
(C) 39 (D) 63 '

ﬁﬂﬁfﬁﬁaﬁam—ags’fﬁﬁiﬁﬂﬁm‘rﬁﬁaﬁ
i & g & ok U e § | faww B =

BN |
(A) PQUR (B) HLIO
(C) DBFA (D) RSTY

afe ABC x DEED=ABCABC &t A, B, C D
3R E oieRT—-aierT o &1 @ D 3R E @1 A

T 87

(A) D=2, E=0 (B) D
(C) D=1, E=0 (D) D
oo FEeT ¥ o6 dredl & MY wfy d o
mﬂ%.wﬁmﬁmmmmw
B 87

(A) FHeT (B) sifa

(C) SW (D) i

v & e A ar srer—arer Rt g g
# oft e & A I W P W wwr Rl

(D) 4

0,E=1
1,E=

o

(A) 5
(€3

q% ¥ UH el @ IR FURT FRA gY e A
T8, ‘T8 W I D gAY @ A A ¥ | AW
@1 9 Higd § a1 Wy 27

(© fa o
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81. Arrange the following words in a logical and

meaningful order.
1. Learn

2. College

3. Degree

4. Admission

5. Assessment

6. Class
(A)2,1,4,56,3
(C) 4,2,6,1,53

(B) 4,2,1,6,3,5
(D) 5,4,2,1,6,3

Two statements are given, followed by three
conclusions numbered I, I and 1L Assuming
the statements to be true even if they seem to
be at variance with commonly known facts,
decide which of the conclusions logically
follow(s) from the statements.
Statements :
Some roads are streets.
Some streets are lanes.
Conclusions :
I. Noroadisa lane.
Il. All streets are lanes.
[II. Some lanes are roads.
(A) Only conclusions II and III follow.
(B) Only conclusion I follows.
(C) Only conclusion II follows.
(D) Either conclusions I or III follows.

82.

The ratio of the present age of Mitali to that
of Shabnam is 4 : 7. If the difference between
the present age of Shabnam and the age of
Mitali after 5 years will be 13 years, then what
is the sum of the present ages of Mitali and

Shabnam?
(A) 64 years
(C) 66 years

83.

(B) 60 years
(D) 74 years

Which two signs should be changed in the
following equation to make it correct?
9-3+12x8+4=11
(A) +and x

(C) +and -

(B) +and +
(D) -and +

In a code language, REGULAR is written as
GERTRAL. How will BROTHER be written as

in that language?

85.

82.

85.

(A) ORBEHTS
(C) ORBUREH

24P-S-2

(B) ROBSERH
(D) ORBSREH

[14 -A)

1. @
2. i ® .
3. & ;’4
o @9 O
5. Hedidd
6. Dl
(A)2,1,4,5,63 (B) 4,2,1,6,3,5
() 4,2.6,1, 53 (D) 5,4,2,1,6,3
ﬂmﬁﬂwﬁ,ﬁmﬁmﬁml,usmm
aﬁmé’rnﬁhmﬁaﬁwmﬁgﬂw
ﬁﬂwmwﬁﬂﬁmmﬁ,m
ﬁﬁsﬁﬁm/ﬁﬁwﬁmﬁfﬁmﬂ—@ﬁfm
aﬁﬂ?ﬂrm/aﬂﬁ?l
e e wferdt € @

oY D el b

) ferai o4 €1
forsp -
. 3 aeP o T 8 &
(L et R o
g]ll.ﬂjﬁﬁqmgl
(A) P Prerd 11 s 11 3rgeReT ot &

Vw)ﬁaﬁﬁélmmal
(C) @aa frepd 11 rgERwT Bl B
(D) a1 @ P T a1 [T SIFER0T el 2

. firaTeh @) adHE I BT WA B A Mg A

AU 4 : 7 2| IR TETH P TEE I IR 5
el 9% fAareh @ Mg & " &7 A} 13 i
&, o Brarelt SR yaTw @Y FdHE 3mg B A
T 87

(A) 64 T
(C) 66 T

(B) 60 ad
(D) 74 a9

frforiaa Texo & 98 =

foet # ggen W =fRe? P e 2
9-3+12x8+4=11
(A) + 3R x

(C) +3iR-

(B) +3iR+
(D) -3k +

U% 1€ 91 ¥, REGULAR ) GERTRAL forar

T 81 9w W ¥
e ¥ BROTHER & 39 R
(A) ORBEHTS

(C) ORBUREH (B) ROBSERH

(D) ORBSREH



86. Select the figure in which the given figure is

87.

88.

89.

embedded.

.
S

D)

How many triangles are there in the following
figure?

(A) 18 (B) 21

(©) 19 (D) 17

In a parking area the total number of wheels
of all the cars and motorcycle is 100 more than
twice the number of parked vehicles. The
number of cars parked is?

(A) 35 (B) 45

(C) 50 (D) 55

Select the figure that will come next in the
following figure series.

) C O[],
@) 3 (|mn

DE
D) C

(R
(RN

(A) (B) 2 g

PR
~

e numbers are related
the numbers of the

CD

D
U (D)

©)

Select the set in which th
in the same way as are
following set.

(8,15, 9)

(A) (9,12, 16)
(C) (4,16,12)

(B) (5.17,11)
(D) (7,13, 14)

86.

87.

39 angfa &1 wu oY o @ g arpfa
wHifed 21

~ W
@

© (D)

Prferfae st 3 R Prr #2
\/\/
JAVAY

(A) 18 (B) 21

(C) 19 (D) 17

. o aRET 8 F Wi BT AR AexErfid 3

e Rl A e aE ey T e @ e

89.

90.

[15-A]

¥ 2 W 100 IRF 2| B B T PR I
e 8?7

(A) 35 (B) 45

(C) 50 (D) 55

frefeRaa st siem # onrelt B W WS
JrqA?

D ClvvlC O
COluvl) (||
D C )
S PEY IRAI
© 63) (D) %Ej
S e w1 7 a R Hent ¥ e Wil
# 49 Prefoeaa de 9 s
(8,15, 9)

(A) (9,12, 16)
(©) 4 16,12)

1,15,9
el 24P-S-2

. A5
3 -

)

(B) (5,17, 11
14)

(D) (7,13,



91. A computer virusisa:
(A) Hardware

(C) Bacteria

(B) Software
(D) Freeware

92. On which technology was the first generation

of computers built?

(A) Artificial Intelligence
(B) IC

(C) VVLSI

(D) Vacuum Tube

93. Which of the following term best define an
operating system?
(A) Platform

(B) Utility
(C) Motherboard

(D) Attenuator

94. Which of the following is not a software

package for an application?

(A) Red Hat Linux

(©) Open office (D) All of the above

95. Which of the subsequent claims is false?

(A) Adobe Photoshop is a program for graphic
design.

(B) Linux is a free, open-source operating
system.

(C) Microsoft owns and sells Linux.

(D) One such operating system is Windows
XP.

96. Which of the following does magnetic disc

storage not provide as a benefit?

(A) Compared to magnetic tape, magnetic disc
has a substantially faster access time.

(B) Tape storage costs more than disc storage.

(C) Magnetic tape is less durable than disc
storage.

(D) None of the above

97. Gutter margin : What is it?

(A) Margin that is added to the right margin
when printing

(B) Margin that is added to the left margin
when printing

(C) Margin that is added to the outside of the
page when printing

(D) Margin that is added to the binding side of
the page when printing

24P-S-2

(B) Adobe Page maker |.

91.

92.

93.

94.

95.

96.

97.

[16 - A]

YL AR FAT B2
(A) BTAW (B) ey
(C) d5ARa (D)
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(A) wreHid {B) gRferd
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98. A document’s background colour cannot be
seen in?
(B) Print Preview
- 2
2

(A) Web layout view
(D) Print Layout view

(C) Reading View

Which of the following options is absent from
the MS Word Ruler screen?

(A) Tab stop box (B) Left Indent

(C) Right Indent (D) Center Indent

Find most appropriate :

Digital video consists of a series of?
(A) Media clips (B) captures
(C) frames (D) Pictures

100.

Which of the following will happen when you
press F12 in MS Office?

(A) Save As dialog box will open

(B) Save dialog box will open

(C) Open dialog box will open

(D) Close dialog box will open

Which file causes MS Word to launch?

(A) Winword.exe (B) Win.exe

(C) Word.exe (D) Wordwin.exe

What are the properties of RAM?
(A) volatile and temporary

(B) non-volatile and permanent
(C) non-volatile and temporary
(D) Volatile and Permanent

101.

102.

103.

In database term used SQL is an abbreviation
of which of the following?

(A) Smart Query Language.

(B) Structured Query Language.

(C) Statement Query language. =

(D) Structured Query Level.(shift Query

Language)
Which of the following shortcut key is used to
open the word count dialog box in MS Office?
(A) Ctrl +Shift+ V. (B) Ctrl +Shift +G.
(C) Ctrl +Alt +V. (D) Ctrl +Alt+G.

What will the value of Excel expression
= FLOOR(12.6, 10) ?
(A) 12.

(©) 10

The software
functions of Har
(A) ALU

104.

105.

106.

13
(D) #VALUE!

that controls and manages the

dware is known as?
(B) Assembler

(C) Operating system. (D) Web Browser
i d
hich short cut key is use
.crosoft word W ;
ig :ﬁleCk the spelling anziBfrFagrunar
Eé; ;Z (D) Ctrl+L

107.

108.

(17 -A]

98. W awrmaw &1 gwHfy i faedt a8 2w o

Hbdl 8?

(A)ﬁﬂé&ﬂ({?{ 2 (B) fife

(C) A 3 (D)ﬁagzlmq
9. MS a¢ e Wt A Prefafaa # A w

e srguflera 2

(A) 2 w=fa dtms (B) @t g3e

(C) ard g3e (D) #% §3e

100. wa& Sugw @
feforea N & fraa! e Haar ard 27
A) DfEar faea (B) PR
(© 1 (D) forx
101. MsS 3itfFe ¥ F12 e wR @1 g’
(,(A)ﬁirwaﬂsma’fﬂa‘fﬂrzgaam
(B) ¥a SIICT died Gel S
(C) T SHAGIT dIFd Gel AT
(D) TS ST qfed Gel Sg
102. 3 & ®ET MS I8 $ =g HY 87
(A) Winword.exe (B) Win.exe

(O Word.exe (D) Wordwin.exe
103. RAM 3 T[T 74T 87
(A) droerge iR et

(B) Af—dicierse 3R W
(C) A —dicersa iR el
(D) dreieTge R vl

104. ew o< ¥ wgw SQL frwas fag i
2?7
(A) ¥TE T8 AAS (B) FpaHS T AAW
(C) ®eiie T Aad (D) FHFas R Ao

105. Ms 3iffhe A g€ ®Ee I dfe Qe D
o frw viid®e Foft & IudnT fsar sran 82
(A) Ctrl +Shift+ V. (B) Ctrl +Shift +G.
(C) Ctrl +Alt +V. (D) Ctrl +Alt+G.

106. Excel 3ifyafts = FLOOR(12.6, 10) &1 ®= &1
grm?
(A) 12. (B) 13
(©) 10 (D) #VALUE!

107. gréqmr @ wral & Ay R wefta s ae
HiTedqR &Y w1 HE AT B?
(A) ALU (B) 3R¥EeR
(€) dfRfEn Rem (D) AW aSoR

108. Microsoft 78 ¥ ad+ 3R =T A Wi

' L3

forg few witdse ol &1 swan fear o @2
AA) F7 (B) F8
(C) Fo (D) Ctrl+L
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109.

110.

111.

112.

113.

114.

115.

116.

117.

Which virus spread in application software?
(A) Boot virus. (B) Micro virus.
(C) Anti-virus. (D) File virus.

Which of the following is not an in-built
software application found in MS Windows?

(A) Paint. (B) MS Word.
(C) Control panel. (D) Disk.
Savitri Purti is related to which sport?
(A) Cricket (B) Hockey
(C) Football (D) Tennis

Bokaro steel plant has tied up with which
organization to set up a skill development
center in Bokaro?

(A) Tata foundation

(B) Khadi village industries

(C) Dalmia Bharat Foundation

(D) None of the above

Digital India Award is given by

(A) NITI Aayog

(B) Ministry of Electronics and Information
Technology

(C) Ministry of Science and Technology

(D) Ministry of Personnel

Choose the correct statement regarding Jamun

Singh Soy of Jharkhand a recipient of Padma

shree.

(A) He received the Padma shree for the
excellent work in the field of Ho
literature.

(B) His first poetry collection was published
under the name “Baha Sagen” in the year
2009.

(C) His birth place is Ranchi.

(D) Both (A) and (B)

Which of the following is the first expressway

of Jharkhand?

(A) Hatia - Sikidri expressway

(B) Giridih - Ranchi Expressway

(C) Gola - Ormanjhi Expressway

(D) Jamshedpur - Ranchi Expressway

Rohini was the headquarters of which of the

following regiments?

(A) 32nd Infantry Regiment

(B) 33rd Infantry Regiment

(C) 34th Infantry Regiment

(D) 43rd Infantry Regiment

Who was the commissioner of Chho

during the revolt of 18577

(A) Mac Donald (B) Dalton

(C) Simpson (D) Ramses

tanagpur

109

110.

111.

112.

113.

114.

115.

116.

117.
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118. Which of the following places is known as the
village of temples?
(A) Deoghar
(C) Sisai

Which magazine was published by
%hhotanagpur Unnati Samaj in 1915?

(B) Maluti
(D) Nagdi

(A) Adivasi (B) Vaishali
(C) Shanti (D) Ekta

120. The six lane green filed project which will go
from Varanasi to Kolkata via Ranchi will pass
through the following district:

(A) Chatra, Hazaribagh, Ramgarh, Bokaro
(B) Giridih, Dumka, Hazaribagh, Ranchi
(C) Jamshedpur, Hazaribagh, Chatra, Ranch
(D) Ramgarh, Chatra, Bokaro, Ranchi

121. Who was the suppressor of Kol revolt?
(A) Alexander (B) Wilkinson
(C) Morgan (D) Cleveland

122. Chand and Bhairav fell martyrs in which of the
following battles?
(A) Bhognadih (B) Masaliya
(©) Barhait (D) Ranchi

123. On which of the following dates was Thakur
Vishwanath Shahdev hanged to death at the
Main gate of the District School in Ranchi,
which is presently known as Shaheed Sthal?
(A) April 13, 1858 (B) April 26, 1858
(C) April 16, 1858 (D) May 6, 1859

124. Yule Rule was implemented for which of the
following regions of Jharkhand
(A) Kolhan (B) Porhat
(C) Santhal pargana (D) Hazaribagh

125. Which was the first nonviolent tribal movement
that was based on Gandhi Ji’s philosophy?
(A) Bhumij Rebellion
(B) Chero Rebellion
(C) Safahod Rebellion
(D) Tana Bhagat Rebellion
126. Which committee recommended the criteria
for the specification of scheduled tribes based
on primitive traits and distinctive culture?
(A) Lokur Committee
(B) Kelkar Committee
(C) Chanda Committee
(D) Dhebar Commission
127. Who among these is the chairman of the Tribal
Advisory Council?
(A) Governor
(B) Chief minister
(C) Minister of tribal affairs
(D) The president of India
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128. During the Quit India movement in 1942,
Saraswati Devi of Hazaribagh was imprisoned
in which of the following jails?

(A) Bokaro (B) Deoghar
(©) Bhagalpur (D) Patna

129. “All Jharkhand Students Union(AJSU)” was
founded on the lines of which of the following
organizations?

(A) Assam Students Union
(B) Bengal Students Union
(C) Dhaka Student Union
(D) Delhi Student Union

130. Consider the following events:

1. Formation of Bihar (including Odisha) by
separation from Bengal

2. Declaration of notified area of Jharkhand

3. Implementation of Santhal Pargana
Tenancy act

4. Implementation of Chhotanagpur Tenancy
Act

The correct chronology of these is:

(A) 1,3,4,2 (B) 2,3,4,1

(© 3,2,1,4 (D) 3,2,4,1

131. Which tribal group is known for its
involvement in the weaving of clothes?
(A) Chero (B) Chik-Baraik

(C) Gorait (D) Gond

132. Who has described Santhal Revolution as a
revolution of the Masses in his Book "Notes on
Indian history"?

(A) Father Hoffman.

(B) S.C. Roy

(C) Karl Marx

(D) Father Peter Navrangi

133. Consider following statements regarding

Sohrai paintings.

1. Itis related with Sohrai festival.

2. It is the first to get GI tag in Jharkhand in
any category.

3. It got Gl tag in 2021.

4. It is very famous in Hazaribagh.

Which of the above statements is/are correct.

(A)1,2,3 (B) 1,2, 4
(C) 23,4 (D) All are correct

was a leader of

134. Bangam Manjhi
movement?
(A) Haribaba movement
(B) Satyadharam Movement
(C) Safahod Movement
(D) Sardari Movement
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135. The full form of JOHAR is?

(A) Tharkhand Opportunities for Harnessing
Rural Growth.

(B) Tharkhand Opportunities for Horticulture

and Rural growth.
PE! (C) Jharkhand on High
o growth.

(D) JTharkhand on Heavy agriculture Rural

growth

Agriculture rate

136. National Institute of Foundry and Forge
Technology atRanchiwassetupincollaboration
with?

(A) UNDP-UNESCO (B) UNICEF
(C) WORLD BANK (D) None of the above

137. Which of the following districts is related to
the Katari Reservoir Project?
(A) Singhbhum (B) Ranchi
(C) Dumka (D) Gumla

138. According to the ISFR 2021, which category of
forests has shown a positive change in forest
cover compared to the previous assessment?
(A) Very Dense Forests
(B) Moderately Dense Forests

(C) Open Forests
(D) Scrub

139. The Sikni coal project is located at?
(A) Dhanbad (B) Ranchi
(C) Latehar (D) Giridih

140. Which of the following is not a correct match?
(A) Mahuadanr wolf sanctuary - Latehar

(B) Topchachi sanctuary - Dhanbad
(C) Dudhwa Bird sanctuary - Koderma
(D) Lawalong sanctuary - Chatra

141. Which ministry serves as the nodal agency for
the implementation of the Scheduled Tribes
Other Traditional Forest Dwellers (Recognition
of Forest Rights) Act 20067
(A) Ministry of Environment, Forest and

Climate Change
(B) Ministry of Tribal Affairs
(C) Ministry of Home Affairs
(D) Ministry of Rural Development

142, Consider the following statements.

1. The Governor shall be appointed by the
President.

2. Prabhat Kumar was the first Governor of
Jharkhand.

Which of the statement(s) given above is/are

correct?

(A) Only 1

(C) Both 1 and 2

(B) Only 2
(D) None of the above
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143. How much is the estimated revenue surplus
for Jharkhand in 2023-24 as a percentage of

GSDPr?
gé) 3.2% (B) 3.3%
(©) 3.1% (D) 43%

144. What was the theme of Jharkhand tableau's

showcased in Republic day celebration 2024 in

New Delhi?

(A) Tribal life of Birhor tribe

(B) Early life of Bhagwan Birsa

(C) Production of the famed Tasar silk in the
Santhal Pargana region

(D) Shri Baidyanath Dham temple, Deoghar

145. PanchayatExtensiontoScheduled Areas(PESA)
Act, 1996 is based on the recommendation of
(A) Sarkaria committee
(B) Bhuria committee
(C) LM Singhvi committee
(D) Abhijit Sen Committee

146. Bharatiya Adim Jati Sevak Sanghathan was
established in the year 1948 by Amuitlal
Vithaldas Thakkar where it is situated?

(A) Mumbai (B) Pune
(C) New Delhi (D) Kolhapur

147. What was the name of the mascot for the
Jharkhand Women’s Asian Champions
Trophy-2023 held at The Jaipal Singh Munda
AstroTurf Hockey Stadium in Ranchi?

(A) Juhi (B) Champa
(C) Marry (D) Lily

148. The largest butterfly park of Eastern India

having more than 80 species of butterflies is

situated in: .
(A) Khatanga (B) Ormanjhi
(C) Piska (D) Jonha

149. Among the 24 districts of Jharkhand which
district has the highest ground water
availability for future use as per the Economic
survey 2023-24.

(A) West Singhbhum

(B) East Singhbhum

(C) Saraikela Kharsawan
(D) Khunti

150. The Book “The People's leader” written by
Vivekananda Jha is an autobiography of which
Jharkhand leader?
(A) Saryu Roy
(C) Shibu Soren

(B) Raghubar Das
(D) Nirmal Mahto

143. 202324 & sR@e @ forg argaTfra orea srferdry
GSDP @ et wiforera &7
(A) 3.2% (B) 3.3%
(C) 31% (D) 4.3%
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